® 9x-Ty @ 3x+9y ®)3x+ Ty

@ 9x + 49y ® 3x+ 49y

9x? — 49y? = (3x)%2 = (7y)? = (3x = Ty)(3x + 7y)




—

x—2y)(x -2y —4z) - 1272 o] AlF7F1
Bajd off, T A4 9] g2 F5HH?

D 2x-4y+4z @)2x — 4y — 4z

@ 2x+4y+4z ® dx-2y—4z

Q5 Ao Foz

® 2x-4y+3z

B

x—2y=A¢=sHH
A(A— 42) - 122 = A~ 4Az — 122
= (A-62)(A+22)

= (x—2y—62)(x -2y +22)
L (x-2y-62)+ (x—2y+27) =2x -4y — 42




3. He dFEsl AolA ol g A4S B L2W? (Hha>0,6>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x—2y+1)

@® a* +2ab + b* = (a+ b)?
@)a? - 2ab + b? = (a - b)?
@)a?-b* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

B ~
P-4 +4y-1
=x2— (D% -4y +1)
=x2—(2y-1)2 .- [a®-2ab+b* = (a-b)?]
=(x+2y-1)(x-2y+1)--- [a®>=b*>=(a+Db)(a-b) ]




D)-16 @ -4 ® 2 @ 8

® 12

x*+8x=A 2t otH

(x> +8x+T7)(x2 +8x+15)—p
=(A+7)(A+15)-p

= A2+ 22A+105-p= (A +11)2
2105 - p =121

sop=-16




5. a+b=1,ab=-69L W, >+ b9 Z& FoIA?

@ 12 @13 ® 14 @ 15 ©® 16

B

a® + b = (a+b)* - 2ab
=12 -2x(-6)
=14+12
=13
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6.

@ 2 ® 4 @)6 ® 8

D1




a, b, ¢ 74T ) A o] Zoldd
ofch. ofu], o] 42HeL of W AZFEIA] PR (W, a, b, ¢ 7
718 o] A el Zololt)
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@ 47rdel 9 % glnt @ o5z
B)/A L A7 AZGRE @ B 7} A7) A2

b3 + b%c + be? — a®b + ¢ - a’c
=b%(b+c)+ b(c? —a®) + c(c? - a?)
=b%(b+c)+ (b+c)(c? —a?)
=b+c) (b +c2-d*)=0

b, = 7o) o] Loo|nz Folet,
o2t b2 + 2 —a? =0, b% + 2 =a?

/A 7} AZrel A ZPAFZFS o]t}

b i B = |




